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Edad                  
(x)

n nmx nqx lx ndx nLx Tx eo
x

0 1 0.03245 0.03161 100,000 3,161 97,468 0.96376 (a) 7,078,994 70.79
1 4 0.00300 0.01192 96,839 1,154 384,413 0.99056 (b) 6,981,525 72.08
5 5 0.00092 0.00456 95,685 437 477,336 0.99613 6,597,112 68.94
10 5 0.00064 0.00317 95,249 301 475,491 0.99559 6,119,776 64.24
15 5 0.00113 0.00566 94,947 536 473,397 0.99310 5,644,285 59.43
20 5 0.00164 0.00816 94,412 768 470,137 0.99134 5,170,888 54.76
25 5 0.00184 0.00916 93,644 854 466,083 0.99023 4,700,751 50.17
30 5 0.00209 0.01038 92,790 959 461,553 0.98863 4,234,667 45.61
35 5 0.00249 0.01238 91,831 1,131 456,329 0.98615 3,773,114 41.06
40 5 0.00309 0.01535 90,700 1,388 450,031 0.98181 3,316,786 36.54
45 5 0.00426 0.02108 89,313 1,876 441,873 0.97406 2,866,755 32.07
50 5 0.00628 0.03091 87,436 2,691 430,455 0.96073 2,424,882 27.69
55 5 0.00982 0.04791 84,745 4,037 413,634 0.93994 1,994,427 23.49
60 5 0.01513 0.07283 80,708 5,837 388,948 0.90873 1,580,793 19.54
65 5 0.02360 0.11120 74,871 8,244 353,745 0.86249 1,191,844 15.87
70 5 0.03658 0.16719 66,627 11,003 305,627 0.79024 838,099 12.52
75 5 0.06013 0.26092 55,624 14,342 242,263 0.54231 (c) 532,472 9.52
80 ω 0.14351 1.00000 41,281 41,281 290,208 290,208 6.98

0 1 0.03702 0.03595 100,000 3,595 97,121 0.95928 (a) 6,839,957 68.40
1 4 0.00321 0.01273 96,405 1,228 382,517 0.98968 (b) 6,742,836 69.94
5 5 0.00101 0.00503 95,177 479 474,689 0.99570 6,360,319 66.83
10 5 0.00072 0.00357 94,698 338 472,646 0.99457 5,885,629 62.15
15 5 0.00146 0.00729 94,360 688 470,080 0.99050 5,412,983 57.37
20 5 0.00236 0.01173 93,672 1,099 465,613 0.98770 4,942,903 52.77
25 5 0.00259 0.01288 92,573 1,193 459,885 0.98664 4,477,290 48.36
30 5 0.00279 0.01384 91,381 1,265 453,742 0.98548 4,017,405 43.96
35 5 0.00307 0.01521 90,116 1,371 447,154 0.98367 3,563,662 39.55
40 5 0.00352 0.01746 88,745 1,550 439,853 0.97924 3,116,508 35.12
45 5 0.00488 0.02412 87,196 2,103 430,720 0.97024 2,676,656 30.70
50 5 0.00724 0.03554 85,092 3,024 417,901 0.95435 2,245,936 26.39
55 5 0.01155 0.05613 82,068 4,607 398,824 0.92992 1,828,035 22.27
60 5 0.01772 0.08486 77,461 6,574 370,873 0.89323 1,429,211 18.45
65 5 0.02797 0.13070 70,888 9,265 331,276 0.84024 1,058,337 14.93
70 5 0.04277 0.19319 61,623 11,905 278,350 0.76430 727,061 11.80
75 5 0.06739 0.28838 49,718 14,337 212,744 0.52588 (c) 448,711 9.03
80 ω 0.14994 1.00000 35,380 35,380 235,966  235,966 6.67

0 1 0.02765 0.02705 100,000 2,705 97,833 0.96847 (a) 7,329,987 73.30
1 4 0.00278 0.01106 97,295 1,076 386,404 0.99149 (b) 7,232,154 74.33
5 5 0.00082 0.00407 96,219 392 480,115 0.99659 6,845,750 71.15
10 5 0.00055 0.00274 95,827 263 478,479 0.99666 6,365,635 66.43
15 5 0.00079 0.00394 95,564 377 476,880 0.99582 5,887,156 61.60
20 5 0.00088 0.00441 95,188 420 474,888 0.99516 5,410,277 56.84
25 5 0.00106 0.00526 94,768 499 472,591 0.99400 4,935,389 52.08
30 5 0.00135 0.00675 94,269 637 469,754 0.99193 4,462,797 47.34
35 5 0.00189 0.00940 93,632 880 465,962 0.98875 3,993,043 42.65
40 5 0.00264 0.01313 92,752 1,217 460,719 0.98451 3,527,081 38.03
45 5 0.00361 0.01788 91,535 1,637 453,583 0.97807 3,066,362 33.50
50 5 0.00528 0.02605 89,898 2,342 443,636 0.96743 2,612,779 29.06
55 5 0.00801 0.03927 87,556 3,438 429,185 0.95047 2,169,143 24.77
60 5 0.01241 0.06020 84,118 5,064 407,928 0.92501 1,739,958 20.68
65 5 0.01901 0.09072 79,054 7,172 377,337 0.88586 1,332,029 16.85
70 5 0.03008 0.13989 71,881 10,055 334,269 0.81748 954,692 13.28
75 5 0.05251 0.23208 61,826 14,348 273,259 0.55956 (c) 620,423 10.03
80 ω 0.13676 1.00000 47,478 47,478 347,164  347,164 7.31                                                                                                                                                                               

f0  = 0.1990 f0  = 0.1992 f0  = 0.1989

4k1 = 1.4472 4k1 = 1.4731 4k1 = 1.4201

                 f0 = [L0 - l1] / d0                                       4k1 = [4L1 - 4 * l5] / 4d1

        (a) 5Pb = [1L0 + 4L1 ] / [5 * l0]                   (b) 4P0 = 5L5 / [1L0 + 4L1]                         (c) wP75 = wT80 / 5T75
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